Bhagwan Mahaveer Public Sr. Sec. School, Banga
Class 10t (Term - I)
Subject: English M.M. 80

SECTION A: READING SKILLS (20 MARKS)
1. Read the following passage carefully:

1. Floods are not new to India and this subcontinent, but in recent years the problem of flooding
has received much greater attention, perhaps largely because it has led to greater damage now
than it did in the past. Even though information on the impending occurrence of floods is now
more accurate and certainly more timely, often there is very little time or support infrastructure in
place by which damage can be minimised. This is particularly true in the case of flash floods
resulting from sudden and excessive heavy rain.
2. In the case of India, Flooding is very much related to the seasonal nature of our rainfall. The
monsoons are spread over a short period during the year and often bring a concentrated volume of
rain, which cannot be absorbed by the earth and finds an outlet only in the form of streams that
join up with our major river systems. Flooding due to heavy rain is confined not only to the main
rivers of the country, but also affects smaller tributaries and streams. Once these streams spill
over their banks they could cause excessive harm. mainly because those living near the banks of
these streams, particularly in mountain areas, do not have easy recourse to moving away quickly.
3. One major factor that could lead to a higher severity of flooding in the future is the danger of
climate change. While the evidence of the nature of impacts, resulting from climate change on
precipitation and flooding at the regional level, is not entirely clear, it could happen that the Indian
subcontinent witnesses and suffers the effects of a significantly changed pattern of monsoons. One
set of scientists has estimated that the monsoons could be shorter in duration but far more
intensive; in other words, much greater precipitation would take place in a much shorter period of
time, thereby increasing the danger of floods. Climate change is the result of human actions
through the increased concentration of greenhouse gases in the atmosphere, of which carbon
dioxide is the most prominent.
4. At the local level also human actions have heightened the danger of floods through the cutting of
trees in the mountains as well as in the plains. In case of India, the ecological damage through
deforestation of the Himalayas has led to large-scale erosion of the mountain slopes and high levels
of siltation. These lead to the deposition of silt on the riverbeds in the plains and hence spillover of
water whenever the volume in the river reaches a certain level. With siltation on the riverbeds,
flooding occurs even at very shallow water levels. The vulnerability of the population has increased
substantially because of slum population pressures. An example is the stubborn and perhaps
helpless settling of dwellers on the banks of the river Yamuna in Delhi, who become victims of
flooding What is a mere trickle most of the year, bursts its banks during the monsoons, as has
been the case in recent years.
5. Flood forecasting is critical to minimising the damage from floods. It is for this reason that the
Central Water Commission has set up a network of forecasting stations, which cover the most
important flood-prone interstate rivers in the country. These stations produce forecasts that are
used to alert the public and to mobilize various official agencies so that they take both preventive
as well as relief measures, whenever required. However, even in cases where forecasts have been
timely and generally accurate, people have often been reluctant to move away, because in most
cases they lack the means and physical options for moving away from a danger zone to one that is
relatively safe. In the case of flash floods, forecasts are difficult to make, and often the time
available for relief is very short.
Based on your understanding of the passage, answer the questions given below: (10x1=10)
(a) The problem of floods has been considered more important recently because

(i) floods have led to much greater damage now than in the past.




(ii) floods are resulting in increased relocation.
(iii) floods occur only during the monsoon season
(iv) of problems of frequent tornadoes and cyclones in the subcontinent.

(b) Specify the option that displays what the writer projects with reference to the following
statement.
One major factor that could lead to higher severity of flooding in the future is the danger of
climate change.
(i) helplessness (ii) speculative
(iii) denial (iv) conviction

(c) Complete the following with a phrase from paragraph 3:

Opinion Reason

Some scientists estimate that shorter
duration of monsoon s€ason leads to more

intensive rainfall.

(d) The writer claims that flood forecasting is critical to minimising the damage from floods. State
one reason for the claim.
(e) Even when the prediction is accurate, people do not evacuate the places where the warning is
given.
(i) True (ii) False
(f) Supply one point to justify the following:
The worst hit people are slum dwellers.
(g) Based on your reading of the text, list two reasons why the writer says that in spite of timely
forecasting people have suffered.
(i) What connect does the writer draw between tributaries and floods? (Para 2)
(j)Which of the following statements is/are false?
The vulnerability of the population has increased substantially because of population
pressures symbolised by:
i. People are superstitious.
ii. Difficult to evacuate flood-affected areas.
Select the correct option:
(i) Only 1 (ii) Only I
(iii) Both 1 and 11 (iv) None of the above
2. Read the following passage carefully:
1. Unsafe water kills more people each year than do war and all other forms of violence
combined. Meanwhile, our drinkable water sources are finite less than 1 per cent of the
Earth's freshwater is actually accessible to us. Without action, the challenges will only
increase by 2050, when global demand for freshwater is expected to be one-third greater
than it is now.
2. Water is uniquely vulnerable to pollution. Known as a "universal solvent", water is able to
dissolve more substances than any other liquid on Earth. Water pollution is the release of
substances into subsurface groundwater or into lakes, streams, rivers, estuaries, and
oceans to the point where the substances interfere with beneficial use of the water or with
the natural functioning of ecosystems. In addition to the release of substances, such as
chemicals, trash, or microorganisms, water pollution may also include the release of energy,
in the form of radioactivity or heat, into bodies of water. The key causatives of water
pollution in India are urbanization, deforestation, industrial effluents and agricultural run-
offs with the use of insecticides and pesticides. The other causes are social and religious
offerings in water bodies and the use of detergents and fertilizers.




3. Water pollution can have disastrous consequences on the ecosystem. Furthermore, toxic
chemicals can travel through the food chain and get into our bodies, causing diseases and
death.
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Major Causes of Water Pollution

4. There is no single or simple answer to stop the water pollution crisis. However,there are
many solutions to prevent water pollution, both in our daily lives and within industries
macy are wastewater treatment, reducing plastic water management and ozone in addition
to this, we must have water-efficient toilets, stormwater management and ozone wastewater
treatment.
Based on your understanding of the passage, answer the questions given below: 10x1=15
(a) Infer one reason for the following, based on information in para 1.
Less than 1 per cent of the Earth's freshwater is actually accessible to us.
(b) Select the appropriate option to fill in the blank:
Water is uniquely vulnerable to_____
(i) season (i) pollution (iii) water bodies (iv) extreme weather conditions
(c) Complete the following analogy correctly with a word/phrase from paragraph 2:
vulnerable resilient artificial:_
(Clue: just as resilient is the opposite of vulnerable, similarly the opposite of artificial is_)
(d) Select the correct option to complete the following sentence:
Water pollution can have disastrous consequences on
(i) the ecosystem (ii) weather conditions
(iii) unexpected rainfall (iv) flash floods
(e) Describe any three major causes of water pollution.
Fill in the blank by selecting the correct option:
One of the solutions of preventing water pollution is__
(i) building industries near water bodies (ii) water conservation and reducing plastic waste
(ii) avoiding swimming (iv) reducing farming
(g)Substitute the word 'causative' with one word similar in meaning in the following
sentence:
The key causative of water pollution in India must be addressed.
(h) According to the writer, water pollution is defined as__ (Para 2)
(i) List one way in which religious rituals impact water bodies.
(j) Select the most suitable title for the passage from the following:

(i) Water Pollution A Concern (ii) Unsafe Water A Menace

(iii) Universal Solvent Water (iv) Global Concern An Urgent Need
Section-B
Grammar

. Complete ANY TEN of twelve of the following tasks, as directed

1. Fill in the blank by using the correct form of the word in the bracket.
Such posters (impact) youngsters negatively and can be hazardous to their
self - esteem.




2. Identify the error in the given sentence, and supply the correction
While much needs to be done to transforming our education system to
meet the needs of all types of students, it is equally important to teach Our children
the art of taking stress in their strides.
Use proper format for your response.
3. Fill in the blank by choosing the correct option,to complete a question asked by the Jal
Board in an awareness campaign.
............ we afford to waste even a drop of water?
a. should. b.May c.Can d. Would
4. Choose the correct reported speech of a given sentence:
A doctor said to me,"Take rest."
a) A doctor was advised me to take rest.
b) A doctor advised me to take rest.
c) A doctor said me to take rest.
d) A doctor said me to you had taken rest.
5. Fill in the blank by choosing the correct option.
He is an expert on languages, but he knows.......... (@ lot of / little / a few) about
mathematics.
6. Identify the error in the given sentence and supply the correction.
The Japnese school lunch has been known to be one of the best in the world.
Use the format for your response.
7. Select the option that identifies the error and supplies the correction for the following line,
from a news report:
The roof and the backside of the bus was blown away by the blast that occurred on
Thursday, but no one was injured.

a. Was. Were
b.away. Off
c occurred Occur
d but. Yet
8. Complete the given narrative by filling in the blank with the correct option:
The residents promised to the President of the association in his demand for
proper garbage disposal systems.
a) stand by b) stand against c) stood by d) stood for

9. Read the conversation between Meera and her father.

Complete the sentence by reporting the reply correctly.

Meera: What did you buy?

Father: I bought a heater.

Meera asked her father what he had bought. The father replied that he .........
10. Choose the correct reported speech of a given sentence:
"Don’t try this at home," the stuntman told the audience.

a) The stuntman advised the audience do not try that at home.

b) The stuntman advised the audience not to try that at home.

c) The stuntman advised the audience not to tried that at home.

d) The stuntman advises the audience not to try that at home.
11.Fill in the blank by choosing the correct option to complete the sentence.
I met a young smart fan............ wanted a selfie with me .So ,we sat on top of a boundary
wall.

a. Which b.Who c. Whose d. Whom

12. Identify the error and supply the correction, for the following:
Use the format for your response.
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Writing Skills
4. (A) Suppose you are Ketan/ Keshwika, the Head Librarian of Mount Park Public School,
Guwahati. You want to purchase some books at the earliest for the library, as the new session
is knocking at the door. Write a letter in about 100-120 words to the Sales Manager of M/S
Scholar Books Pvt. Ltd., 291 Daryaganj, New Delhi, placing the order for the books. (5)

Or

(B) Suppose you are Saurabh/Saundarya of 751, Greater Kailash, Hyderabad. You are
concerned about the increasing number of incidents of eve-teasing, chain snatching, rash
driving, and day-light robberies in your city. Write a letter in about 100-120 words to the
Editor of a newspaper expressing your concern and highlighting the means to curb these evils.
S. (A) Suppose you are Manav/Manaswita of 176, D-Block, Sector-9, Rohini, New Delhi. You
are a student of Class-XII. You happen to see the following advertisement regarding the
coaching classes for IIT-JEE. You are interested to join the classes. Write a letter in about 100-
120 words to the Director of the institute seeking information about the same.

(B) Our rivers are polluted to a great extent. Domestic sewage and industries are the main
source of pollution. The contaminated water is very harmful for health. Write a letter in
about 100-120 words to the Editor of a national daily describing the problem and suggesting
solutions to it. You are Romit/Romita of 914, Model Town, New Delhi.
Section-C
Read the extracts and answer the questions for any one of the two, given: (5)
6. A I finished my poem, and it was beautiful! It was about a mother duck and a father swan
with three baby ducklings who were bitten to death by the father because they quacked too
much. Luckily, Mr. Keesing took the joke the right way. He read the poem to the class, adding
his own comments, and to several other classes as well. Since then I've been allowed to talk
and haven't been assigned any extra homework. On the contrary, Mr. Keesing's always making
jokes these days.
(i) The answered assignment was pertaining to

(a) a mother and a father (b) ducklings death by father
(c) a ridiculous joke (d) a childless family
(ii) The ducklings were killed by the father due to their
(a) carelessness (b) talkative nature
(c) fatal illness (d) guard
(iii) How did Mr. Keesing take the joke?
(a) negatively (b) rudely
(c) positively (d) in the right way
(iv) Write the correct antonym of 'unluckily'.
(a) fortunately (b) luckily

(c) desperately (d) quickly




(v) What change there occurred in Mr. Keesing?

(a) he gave no extra work (b) Anne was allowed to talk
(c) he started joking with her (d) all of these
OR

6. B Read the given extracts and answer the questions for ANY ONE of the two, given.(5)

But Horace found that the flowers were hindering him in his work. He buried his face in his
handkerchief. Then he heard a voice say from the doorway, "What is it? A cold or hay fever?"
Before he could think, Horace said, "Hay fever," and found himself sneezing again.
The voice went on, "You can cure it with a special treatment, you know, if you find out just
what plant gives you the disease. I think you'd better see a doctor, if you're serious about
your work. I heard you from the top of the house just now." (A Question of Trust)
(a) State any one inference about Danby from the given context. But Horace found that the
flowers were hindering him in his work.
(b) State which of the options from (i) to (iv) can be applied to the given question or
context.
Who asked Horace, "What is it? A cold or hay fever"?
(i) Probably, it was the mistress of the Grange.
(ii) Maybe, it was another thief.
(iii) It could have been the housekeeper of the Grange.
(iv) In all probability, it was a neighbour keeping an eye on the Grange.
(c) What advice did the lady give Horace regarding his hay fever? Was she really interested in
his health? Elaborate in about 30-40 words, with reference to the extract.
(d) Which phrase would correctly substitute 'buried' as given in the extract?
He buried his face in his handkerchief.
Read the extracts and answer the questions for any one of the two, given: ()
7.A
[ am an orphan, roaming the street.
I pattern soft dust with my hushed, bare feet.
The silence is golden, the freedom is sweet.
(i) What does the word 'T' here stand for?

(a) Amanda (b) the poet (c) poet's mother (d) poet's grandmother
(ii)) What does the speaker imagine herself to be?
(a) a rich girl (b) a witch (c) an orphan d) a princess
(iii) She is roaming in the street bare feet to__
(a) split the dust  (b) make pattern  (c) vitiate the atmosphere (d) a princess
(iv) Which poetic device does the last line indicate ?
(a) alliteration (b) imagery (c) personification (d) metaphor
(v) The stanza specifies that Amanda wants
(a) slavery (b) freedom (c) bondage (d) free-life

7.B
He should be lurking in shadow,
Sliding through long grass
Near the water hole
Where plump deer pass
(i) The tiger is lurking in
(a) shadow (b) dark place (c) long grass (d) both (b) and (c)
(ii) The tiger slides near the
(a) cage (b) tree (c) water hole (d) deer




(iii) He expects something near the water hole, it is

(a) a lamb (b) a man (c) any animal (d) a deer
(iv) According to the poet, the tiger should be in the
(a) forest (b) tree (c) plain (d) mountain
(v) The word 'plump' in this stanza conveys the meaning:
(a) robust (b) hale and hearty (c) healthy (d) slender
8 . Answer Any Four of the following 5 questions in about 40 to 50 words [4x3=12]

a) Validate the given statement with reference to the decision of the pilot of dekota” Certain
decisions seem risky but cannot be avoided “
(two stories about flying -The black aeroplane)
b) Even today any person with the Jack fruit like physical appearance is easily compared to a
Baker, Explain (Glimpses of India A Baker from Goa)
c) Why does the poet say that ice will suffice to destroy the world ? (Fire and Ice)
d) How does the boy sense his first loss and first responsibility? (The ball poem)
e) What is the policy of Apartheid ? Why did Mandela called it, “an extraordinary human
disaster” ? (Nelson Mandela : long walk to freedom)
9. Answer Any Two of the following three questions, in about 40 to 50 words. 2x3=6
a) Name three extraordinary things that took place in the rented room at lping where Griffin
was staying? (Footprints without feet)
b) Justify that Ausable is an alert, active passionate and intelligent secret agent.
(The midnight visitor)
10. Answer Any one of the following two questions in about 100 to 120 words. 1x6=6

a) Anne Frank in "From the diary of Anne Frank used to say that paper has more patience
than people do you agree with the statement what is the common element between her
belief and Lencho's?

b) “The natural beauty of both Assam and Coorg is Panoramic.It is an immense pleasure to
visit both the places. Assam and Coorg have their own glimpses.” Compare and contrast
the natural delight of Assam and Coorg as describe in the “ Tea from Assam and Coorg”.
Even Amanda wants to run away into the arms of nature to escap explain from the
Suffocating environment at home. Explain how nature provides Joy to one and solace to

another. ”

11. Answer anyone of the following two questions, in about 100 to 120 words 1x6=6

a) "Humour is a quality in something that makes us smile or laugh, for example, in a situation,
in someone's words or actions, or in a book or film. “The thief story” is well stocked with
indistinct, dismal and gloomy Humour Describe the statements and situations from the
story that serve the very purpose of comic relief.

Or

b) “Crime can never be justified. The one who causes harm to anyone, gets caught later or

sooner”
Examine “A question of Trust "as a story woven around this code.
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Time Allowed: 3 hours

General Instructions:

—_

Happowal Road Banga
TERM 1 SESSION 24-25

Class 10 - Mathematics (Basic)

General Instructions:

1. This Question Paper has 5 Sections A, B, C, D and E.

2. Section A has 20 MCQs carrying 1 mark each

3. Section B has 5 questions carrying 02 marks each.

4. Section C has 6 questions carrying 03 marks each.

5. Section D has 4 questions carrying 05 marks each.

6. Section E has 3 case based integrated units of assessment (04 marks each) with sub-
parts of the values of 1, 1 and 2 marks each respectively.

7. All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2 Qs of 3

marks and 2 Questions of 2 marks has been provided. An internal choice has been
provided in the 2marks questions of Section E
8. Draw neat figures wherever required. Take t =22/7 wherever required if not stated

Section A

(1+v/2)+(1-+/2)is

BHAGWAN MAHAVEER PUBLIC SR SEC SCHOOL BANGA

a) a rational number

¢) terminating decimal

The prime factors of 196 are
a)2 x 7

22 x 7
Which of the following is not a polynomial?
a) v3z%2 — 23z +5
©) 922 — 4z + /2
The zeroes of the polynomial p(x) = 2x° - x - 3 are
a) — 3.1

27

c)—g,—l

b) a non-terminating decimal

d) an irrational number

b) 2 x 72

d) 22 » 72

byz+ 3

d) gx3+6x2—%x—8

b) 3, -1
3

d,,1

If a pair of linear equations in two variables is consistent, then the lines represented by two equations are

a) parallel

¢) always intersecting

b) always coincident

d) intersecting or coincident

Maximum Marks: 80

[1]

[1]

[1]

[1]

[1]
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6.

7.

8.

9.

10.

11.

12.

13.

14.

15.

16.

17.

If 29x + 37y = 103 and 37x + 29y = 95 then

a)x=3,y=2

0)x=2,y=3

If the equation x? - kx + 1 = 0 has no real roots then

a)-2<k<2
o) k<-2

If one root of the equation x2

a) 3

c)?2

Which term of the AP: 21, 42, 63, 84,... is 210?

a) 10th

¢) 11th

The common difference of the A.P. can be

a) only negative

) positive, negative or zero

byx=2,y=1
d)x=1y=2
b) k> -2
d)k>2

+ax + 3 =01is 1, then its other root is

b) 12th

d) 9th

b) only zero

d) only positive

The distance between the points A(0, 6) and B(-6, 2) is:

a) 2+/6 units
c) 134/2 units

The abscissa of any point on the y-axis is

a)0

Ay

Ifsinf = ; then cotd = ?

a)L

V3
c)@

b) 24/13 units

d) 6 units

b) 1
d) v3

A solid spherical ball fits exactly inside the cubical box of side 2a. The volume of the ball is

a) (15 mal

0) 136 mal

b) ; ma®

d) ¥ mal

The curved surface area of a right circular cylinder which just encloses a sphere of radius r is

a) 2mr?

c) 8mr?

Upper class limit + Lower class limit
9 =

a) frequency

c) Class interval
Median = ?

iy {h x (Cff%)}
Vi {hx (%;c )}

b) 4mr?

d) 6mr?

b) class mark

d) class size

[1]

(1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

2/6



18. A number is selected from numbers 1 to 25. The probability that it is prime is

19.

solution.

Reason (R): If the pair of lines are parallel, then the pair has no solution and is called inconsistent pair of
equations.

a) Both A and R are true and R is the correct

explanation of A.

¢) A is true but R is false.

b)é

d)

b) Both A and R are true but R is not the

correct explanation of A.

d) A is false but R is true.

20. Assertion (A): Common difference of the A.P. 5, 1, -3, -7 ... is 4.

Reason (R): Common difference of the A.P. aj, ap, a3 ... an is obtained by d = aj, - a,_1.

a) Both A and R are true and R is the correct

explanation of A.

¢) A is true but R is false.

21.  Match the following table:

b) Both A and R are true but R is not the

correct explanation of A.

d) A is false but R is true.

Section B

(1]

Assertion (A): If the pair of lines are coincident, then we say that pair of lines is consistent and it has a unique

[1]

(1]

(2x5=10)
[2]

Graph of polynomial

Type of Polynomial

ol

(a)

/

\

(i) Linear polynomial

(b)

(ii) Quadratic polynomial

(©

(iii) Cubic polynomial

(d)

(iv) Constant polynomial

3/6



22.  Match the following: [2]

Column 1 Column 2

(a) Trigonometric identity is applicable only on (i) Pythagoras Theorem

(b) If two sides are given in right triangle than the third side can be calculated with
(ii) Right triangle

the help of
(c) If one side and one angle is given in the right triangle than the third side can be
(iii) Equal
calculated by
(d)If the angles are equal in a right triangle than its two sides are (iv) Trigonometric
functions
23.  Solve the pair of equations: § -+ % =4, 56?” — % =4 [2]

OR

7 and 2 , find out whether the lines representing the pair of linear equations intersect

On comparing the ratios by
at a point, are parallel or coincide: 6x — 3y + 10=0; 2x—y + 9 = 0.
24.  Find the value of k for which the roots are real and equal of equation: [2]

kx2+4x+1=0
OR

Solve: 5x° + 13x + 8 =0
25. The points A (2, 0), B (9, 1), C (11, 6) and D (4, 4) are the vertices of a quadrilateral ABCD. Determine whether

ABCD is a rhombus or not. [2]
Section C (3x6=18)
26. A lot consist of 144 ball pens of which 20 are defective and others are good. Nuri will buy a pen if it is good, but [3]

will not buy if it is defective. The shopkeeper draws one pen at random and gives it to her. What is the
probability that:
i. she will buy it?

ii. she will not buy it?

27.  Explainwhy 7 X 11 X 13+ 13and7 X 6 X 5 X 4 X 3 X 2 X 1+ 5 are composite numbers. [3]
28.  Find a quadratic polynomial, the sum and product of whose zeroes are i and -1, respectively. [3]
29.  Evaluate: 2sin® 30° — 3cos? 45° + tan? 60° [3]

OR
Ifsin(A— B) = ;,cos(A—i—B) = ;,00 < A+ B < 90° A > B, find the values of A and B.

30. A sphere and a cube have equal surface areas. What is the ratio of the volume of the sphere to that of the cube?  [3]
OR

A solid is consisting of a right circular cone of height 120 cm and radius 60 cm standing on a hemisphere of radius 60
cm. It is placed upright in a right circular cylinder full of water such that it touches the bottom. Find the volume of

water left in the cylinder, if the radius of the cylinder is 60 cm and its height is 180 cm.

31.  If the mean of the following frequency distribution is 24, find the value of p. [3]
Class 0-10 10-20 20-30 30 -40 40 - 50
Frequency 3 4 o] 3 2
Section D (4x3=12) [4]

Question No. 32 to 34 are based on the given text. Read the text carefully and answer the questions:

The students of a school decided to beautify the school on an annual day by fixing colourful flags on the straight
passage of the school. They have 27 flags to be fixed at intervals of every 2 metre. The flags are stored at the position
of the middlemost flag. Ruchi was given the responsibility of placing the flags. Ruchi kept her books where the flags

were stored. She could carry only one flag at a time.



32. How much distance did she cover in pacing 6 flags on either side of center point?

33. Represent above information in Arithmetic progression

34. How much distance did she cover in completing this job and returning to collect her books?

Or
What is the maximum distance she travelled carrying a flag?
Question No. 35 to 37 are based on the given text. Read the text carefully and answer the questions:
In order to facilitate smooth passage of the parade, movement of traffic on certain roads leading to the route of the
Parade and Tableaux ah rays restricted. To avoid traffic on the road Delhi Police decided to construct a rectangular

route plan, as shown in the figure.

Police Police

A(-2,-2) P(-2,1) B(-2,4)
Restricted R Police
Police Police
52, -2) Qlx, )
Police

D(s, -2) R(6,1) C(6,4)

Police Police
35. If Q is the mid point of BC, then what are the coordinates of Q?
36. What is the length of the sides of quadrilateral PQRS?
37. What is the length of route PQRS?

Or
What is the length of route ABCD?
Question No. 38 to 40 are based on the given text. Read the text carefully and answer the questions: Computer-

based learning (CBL) refers to any teaching methodology that makes use of computers for information transmission.
At an elementary school level, computer applications can be used to display multimedia lesson plans. A survey was

done on 1000 elementary and secondary schools of Assam and they were classified by the number of computers they

Number of Computers 1-10 11-20 21-50 51-100 101 and more

Number of Schools 250 200 290 180 80

One school is chosen at random. Then:

38. Find the probability that the school chosen at random has more than 100 computers.
39. Find the probability that the school chosen at random has 50 or fewer computers.

40. Find the probability that the school chosen at random has no more than 20 computers.

Or

Find the probability that the school chosen at random has 10 or less than 10 computers.

[4]
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41.

42.

43.

44.

Section E 5x4=20

If we add 1 to the numerator and subtract 1 from the denominator, a fraction reduces to 1. It becomes % if we [5]

only add 1 to the denominator. What is the fraction?

OR
Solve system of equations:
T+ 2y = g
2z +y= g

In what ratio is the line segment joining A(2, -3) and B(5, 6) divided by the x-axis? Also, find the coordinates of [5]
the point of division.
A student was asked to make a model shaped like a cylinder with two cones attached to its ends by using a thin ~ [5]
aluminium sheet. The diameter of the model is 3 cm and its total length is 12 cm. If each cone has a height of 2
cm, find the volume of air contained in the model.

OR
A solid wooden toy is in the shape of a right circular cone mounted on a hemisphere. If the radius of the hemisphere

is 4.2 cm and the total height of the toy is 10.2 cm, find the volume of the wooden toy.

Calculate the median from the following frequency distribution: [5]
Class 5-10 10-15 15-20 20-25 25-30 30-35 35-40 40 - 45
Frequency 5 6 15 10 5 4 2 2
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%, BHAGWAN MAHAVEER PUBLIC SR SEC SCHOOL BANGA

S Happowal Road Banga
TERM-1 SCIENCE (P)

Class 10 - Science

Time Allowed: 3 hours Maximum Marks: 80

General Instructions:

All questions are compulsory. However an internal choice is provided in some questions.
Section A consists of 20 objective type questions carrying 1 mark each.

Section B consists of 6 very short answer questions carrying 2 marks each.

Section C consists of 7 short answer type questions of 3 marks each

Section E consists of 3 long answer questions of 5 marks each

Section D consists of 3 case based questions of 4 marks each.

Section A
1. When Sodium bicarbonate reacts with dilute hydrochloric acid, the gas evolved is: [1]
a) Hydrogen; it turns lime water milky. b) Hydrogen; it gives pop sound with burning

match stick.

c¢) Carbon dioxide; it blows off a burning d) Carbon dioxide; it turns lime water milky.

match stick with a pop sound.
2. BaCly + NapSO4 — BaSOy4 + 2NaCl. It is type of: [1]

a) Both Precipitation reaction and Double b) Double displacement reaction
displacement reaction
¢) Decomposition reaction d) Precipitation reaction
3. Which of the following conducts electricity? [1]

Rainwater, distilled water, potable water.

a) rain water, distilled water b) rain water, potable water
¢) distilled water, potable water d) Rain water, distilled water, potable water
4, The filtration units of kidneys are called [1]
a) Ureter b) Urethra c) Neurons d) nephrons

5. Which of the following equations is the summary of photosynthesis? [1]

a) 6COy + 12H50 + Chlorophyll + Sunlight — b) 6CO, + 12H50 + Chlorophyll + Sunlight
CgH170¢ + 605 + 6H,O — CgH1»0g + 6CO7 + 6H50

©) 6CO» + 12H,0 — CgH120g + 60, + 6H,O d) 6CO, + HyO + Sunlight —CgH120g + Oy + 6Hy0

6.  Name the blood vessel which carries deoxygenated blood from the heart to the lungs. [1]

a) Capillaries b) Pulmonary vein

¢) Pulmonary artery d) Aorta
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10.

11.

12.

13.

14.

15.

16.

The given figure shows the pathway of a nerve impulse in a reflex action. Which part serves as a link between

neurons?

a)Z b) W ) X d)Y

Posture and balance of the body is controlled by.

a) Pons b) Medulla C) Cerebrum d) Cerebellum

The movement of shoot towards light is

a) phototropism b) hydrotropism

¢) chemotropism d) geotropism

The junction between the axon of one neuron and dendrite of the next is called
a) A synapse b) A joint
¢) Junction point d) Constant bridge
The image formed by a concave mirror is observed to be virtual, erect and larger than the object. Where should

be the position of the object?

a) Between the principal focus and the centre b) Beyond the centre of curvature

of curvature

¢) At the centre of curvature d) Between the pole of the mirror and its

principal focus.
The formula which gives the relationship between the object distance, image distance and focal length of the

spherical mirror is:

1 1,1 11 1
a)v:u+f b)v_u:f
)yt .= d, =,
Which of the following phenomena contributes significantly to the reddish appearance of the sun at sunrise or
sunset?
a) Scattering of light b) Total internal reflection of light
¢) Dispersion of light d) Reflection of light from the earth

When a narrow beam of white light passes through a glass prism it splits into its component colours? This

phenomenon is called:

a) Total reflection of light b) Diffusion of light
¢) Scattering of light d) Dispersion of light
What is the observed colour of sky as seen from the moon surface?
a) Black b) Blue ¢) Red d) None of these.

The heat produced in a wire of resistance x when a current y flows through it in time z is given by:

2

By X 7% x Dxyxz  gxxaxy | Dyxaxx

[1]

(1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]
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17.

18.

19.

20.

21.

22.

23.
24,
25.

26.

27.

Assertion (A): When common salt is kept open, it absorbs moisture from the air. [1]

Reason (R): Common salt contains magnesium chloride.

a) Both A and R are true and R is the correct b) Both A and R are true but R is not the
explanation of A. correct explanation of A.
¢) A is true but R is false. d) A is false but R is true.
Assertion (A): Alveoli contain an extensive network of blood vessels. [1]

Reason (R): Alveoli is the site where the exchange of gases occurs.

a) Both A and R are true and R is the correct b) Both A and R are true but R is not the
explanation of A. correct explanation of A.
) A is true but R is false. d) A is false but R is true.
Assertion (A): Light bends from its path when it goes from one medium to another medium. [1]

Reason (R): Speed of light changes, when it goes from one medium to another medium.

a) Both A and R are true and R is the correct b) Both A and R are true but R is not the
explanation of A. correct explanation of A.
) A is true but R is false. d) A is false but R is true.
Assertion (A): Two resistance having value R each. Their equivalent resistance is 1; . [1]

Reason (R): Given Resistance is connected in parallel.

a) Both A and R are true and R is the correct b) Both A and R are true but R is not the
explanation of A. correct explanation of A.
¢) A is true but R is false. d) A is false but R is true.
Section B
When potassium iodide solution is added to a solution of lead (II) nitrate in a test tube, a precipitate is formed. [2]

a. What is the colour of this precipitate? Name the compound precipitated.
b. Write the balanced chemical equation for this reaction.
c. List two types of reactions in which this reaction can be placed.
An element A reacts with water to form a compound B which is used in white-washing. The compound B on [2]

heating forms an oxide C which on treatment with water give back B. Identify A, B and C and give the reaction

involved.

Differentiate between a strong acid and weak acid. [2]
What are the two phases of photosynthesis reactions? [2]
Draw ray diagram showing the image formation by a concave mirror when an object placed between pole and 2]

focus of the mirror.

A current of 30 mA is flowing through a wire of resistance of 50Q. what is the potential difference between two  [2]

ds of the wire ?
endas o e wire OR

How does potential difference (V) across a resistor depend on current passing through it? What is nature of I-V graph

obtained?
Section C
2g of silver chloride is taken in a china dish and the china dish is placed in sunlight for some time. What will be  [3]

your observation in this case ? Write the chemical reaction involved in the form of a balanced chemical equation.

Identify the type of chemical reaction.
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28.  Explain the following giving equation in each: [3]
i. Baking soda is heated. ii. Washing soda is heated. ili.  Gypsum is heated at 373 K.
29.  Leaves of healthy potted plant were coated with vaseline. Will this plant remain healthy for long? Give reasons  [3]
for your answer.
30.  Differentiate between exocrine gland and endocrine gland. 3]
31. A student sitting at the back of the classroom cannot read clearly the letters written on the backboard. What [3]

advice will a doctor give to her?

32. a. How much current will an electric bulb draw from a 220 V source, if the resistance of the bulb filament is [3]
1200 ©2?
b. How much current will an electric heater coil draw from a 220 V source, if the resistance of the heater coil is
100 Q°?
33. i. When a 12 V battery is connected across an unknown resistor, there is a current of 2.5 mA in the circuit. Find [3]

the value of the resistance of the resistor?
ii. 320J of heat is produced in 10 s in a 2{2 resistor. Find the amount of current flowing through the resistor.
OR
a. Two electric lamps rated 100 W,220 V and 60 W,220 V are connected in parallel to electric mains supply.
Calculate the current drawn from the mains if the supply voltage is 220 V?
b. A lamp consumes 50 W and is lighted 2 h daily in month of April. How many units of electric energy is

consumed ?
Section D

Question No. 34 to 37 are based on the given text. Read the text carefully and answer the questions: [4]
When oxygen combines with other elements or compounds, the process is called oxidation the substances that combine
with oxygen are said to have been oxidized.

The reduction is exactly the opposite of oxidation. If a substance loses oxygen during a reaction, it is said to be reduced.
When hydrogen burns the hydrogen combines with oxygen to form water 2H, + O, = H,O

The hydrogen is oxidized in this reaction, but at the same time, the oxygen is reduced. Whatever oxidation occurs

reduction must also occur.

34. What is oxidation?

35. In the given reaction, which reactant species is oxidized?

36. In the given reaction, which reactant species is reduced?

37. If four molecules of Hydrogen are combined with oxygen then how many molecules of water are formed?
Question No. 38 to 41 are based on the given text. Read the text carefully and answer the questions: [4]
Animals have a nervous system for controlling and coordinating the activities of the body. But plants have neither a
nervous system nor muscles. So, how do they respond to stimuli? When we touch the leaves of a chui-mui (the
‘sensitive’ or ‘touch-me-not’ plant of the Mimosa family), they begin to fold up and droop. When a seed germinates,
the root goes down, the stem comes up into the air. What happens? Firstly, the leaves of the sensitive plant move very
quickly in response to touch.

There is no growth involved in this movement. On the other hand, the directional movement of a seedling is caused by

growth. If it is prevented from growing, it will not show any movement.
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38. Write the types of movement.
39. Give an example of a plant hormone that promotes growth.
40. What is the function of the nervous system?
OR
What is the function of the nervous system?
OR
41. How is the movement of leaves of the sensitive plant different from the movement of a shoot towards light ?
Question No. 42 to 45 are based on the given text. Read the text carefully and answer the questions: [4]
Atmospheric refraction is the phenomenon of bending of light on passing through earth’s atmosphere. As we move
above the surface of earth, density of air goes on decreasing. Local conditions like temperature etc. also affect the
optical density of earth’s atmosphere. On account of atmospheric refraction, stars seen appear higher than they actual

are; advanced sunrise; delayed sunset, oval appearance of the sun at sunrise and sunset; stars twinkle, planets do not.

42. How does atmospheric refraction affect the apparent length of the day?
43. Why does Sun appear slightly oval shaped at morning and evening?
44. Why do the stars twinkle but planets don't?

45. What color does the sky appear in the absence of an atmosphere?

Section E
46.  What is water of crystallisation? Write the common name and chemical formula of a commercially important [5]
compound which has ten water molecules as water of crystallisation. How is this compound obtained? Write the
chemical equation also. List any two uses of this compound.
OR

How is plaster of Paris prepared ? Why is temperature control necessary during its preparation ? How does it react
with water ?

47.  Draw the sectional view of the human heart and label the following parts given below: [5]

i. Chamber where oxygenated blood from lungs is collected.
ii. The largest blood vessel in our body.
iii. The Muscular wall separating the right and left chambers.
iv. The blood vessel that carries blood from the heart to the lungs.

OR
i. Define excretion.

ii. Name the basic filtration unit present in the kidney.
iii. Draw excretory system in human beings and label the following organs of excretory system which perform the
following functions:
a. forms urine
b. is a long tube which collects urine from the kidney.

c. Store urine until it is passed out.
48.  Define magnification of a spherical mirror. What will be the magnification in case of plane mirror? [5]

OR
i. What is meant by power of a lens? Define its SI unit.
ii. You have two lenses A and B of focal lengths +10 cm and - 10 cm, respectively. State the nature and power of
each lens. Which of the two lenses will from a virtual and magnified image of an object placed 8 cm from the

lens? Draw a ray diagram to justify your answer.

5/6



Bhagwan Mahaveer Public Sr. Sec. School, Banga
e==p Class 10th (Term - I)

pe
il Subject: Social Science M.M. 80

Section A (20 Marks)

1. Power can be shared among which kind of social groups?

a) Religious b) Political groups

c) Both religious linguistic groups d) Linguistic

2. From the 20 houses, in Gendathur village net amount of rainwater harvested annually amounts to
a) 6,00,000 litres b) 4,00,000 litres
c) 2,00,000 litres d) 1,00,000 litres

3. Read the following data and select the appropriate option from the following:

EDUCATIONAL ACHIEVEMENT OF RURAL POPULATION OF UTTAR PRADESH

Category Male (%) Female (%)
Literacy rate for rural population 76 54
Literacy rate for rural children in age group 10-14 years 90 87
Percentage of rural children aged 10-14 attending school 85 82

What percentage of males are more educated than the females?
a) 22 b) 85
c) 76 d) 15

4. Look at the picture given below and select the correct option from the following:

Which of the following aspects best signifies this image of Germania?

a) As a protector of Germany b) As a protector of her child

¢) As a guardian of women'’s rights d) As a protector of German Rhine

5. Besides Hindi, how many other languages are recognised as Scheduled Languages by the Indian Constitution.
a) 26 b) 29
c) 22 d) 21
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6.  What is national development?

a) Social development b) Cultural development

¢) Political development d) Development in all the sections
7. Which of the following states has the largest area under permanent forests?

a) Madhya Pradesh b) West Bengal

¢) Manipur d) Assam
8.  Choose the incorrect option from the following:

(A) Courier - Tertiary Sector

(B) Fisherman - Primary Sector

(C) Carpenter - Primary Sector

(D) Banker - Tertiary Sector
a) All of these b) Both B and D
c) Only C d) Only B

9. Which one of the following is the minority group in Sri Lanka?

a) Muslims b) Sinhalese

c) Tamils d) Christians
10.  Who said, "When France sneezes, the rest of Europe catches cold"?
a) Metternich b) Giuseppe

¢) Lord Byron d) T S Eliot

11.  Assertion (A): Rooftop rainwater harvesting is the most common practice in Shillong.

Reason (R): Shillong is situated near Cherapunjee and Mawsynram.

a) Both A and R are true and R is the correct b) Both A and R are true but R is not the
explanation of A. correct explanation of A.
c) Ais true but R is false. d) Ais false but R is true.

12.  Assertion (A): There was a feeling of alienation among Sri Lankan Tamils.
Reason (R): The Sri Lankan government denied them equal political rights and discriminated against them in
getting jobs and other opportunities.

a) Both A and R are true and R is the correct b) Both A and R are true but R is not the
explanation of A. correct explanation of A.
c) Ais true but R is false. d) Ais false but R is true.

13.  Arrange the following statements in sequential order:

i. i. Simon Commission arrived in India

ii. ii. Mahatma Gandhi decided to withdraw the Non-Cooperation Movement

iv. iv. Under the presidency of Jawaharlal Nehru, the Lahore Congress formalised the demand of ‘Purna Swaraj’

or full independence for India.
a) v, i, ii, i b) ii, i, iii, iv

c) iii, iv, i, ii d) ii, i, iv, iii
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14.  Inarural village in India, Radha, a farmer, cultivated cotton on her farmland, relying on natural factors like
rainfall and sunshine. She sold the harvested cotton to Ramesh, a skilled weaver, who transformed the cotton
fibers into beautiful fabrics. The journey from the agricultural sector activity of cotton cultivation to the
manufacturing sector activity of textile manufacturing showcases the interconnectedness of these sectors in the
Indian economy. Which sector involves the transformation of natural products into other forms through

manufacturing processes?

a) Primary sector b) Quaternary sector

¢) Secondary sector d) Tertiary sector
15.  State true or false:

Fallow land is the land put to agricultural use and for grazing.

16.  Forced recruitment means a process by which

a) the people forced the state to join the b) Indians were forced by the British rulers to
struggle. finance the British army.

¢) the colonial state forced people in rural d) the Indian princes had to supply soldiers to
areas to join the army. fight for the British.

17. A few gram panchayats grouped together are termed in various ways. Identify the incorrect one.
a) Gram b) Block c) Panchayat Samiti d) Mandal
18.  State true or false:

The availability of water resources varies over space and time.
19 Fill in the blank:

SECTOR CRITERIA USED
Organized & Unorganized Nature of employment activities
Public & Private ?
a) Nature of Production activities b) Nature of economic activities
¢) Nature of Ownership d) Nature of Social activities
20. A new British nation was forged through the propagation of adominant _________culture.
a) Latin b) French
c¢) English Sectio ;jl) l\3/|etnamese (08 Marks)

21.  Study the map thoroughly and mention which language could have been made the official language of the

Jaffna Ethnic Communities
country. s k‘:;* ™ of Sri Lanka

Sinhalese
Sn Lankan Tami &3
Indian Tam! N
Musim ©
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22.  Why did Gandhiji decide to withdraw non - Co-operation Movement.
OR

How was the spirit of nationalism of the nineteenth century different from that of the first half of the century?
23.  Describe the uses of oilseeds. Which state is the largest producer of groundnut?

24. Highlight a few differences between intermediate goods and final goods. (20 Marks)

Section C (15 Marks)

25.  List any three features of the Civil Code of 1804 usually known as the Napoleonic Code.

26.  How is sharing of power between the Union and the State Governments basic to the structure of the Constitution
of India? Explain.

OR
State any two achievements and any two problems of the Panchayati Raj system.

27.  If we look at the country as a whole, we find that 93% of the workers in India are in the unorganized sector.

Organized sector employment is available to only about 7% of the workers in India.

Sector Organised Unorganized Total
Primary 1 232
Secondary 41 74 115
Tertiary 40 88 172

Total 82

Total in 100%
Percentage

Workers in the unorganized sector work hard, but earn very little. Give reasons. What problems do they face
there? Think why they are forced to work in this sector.

28.  Give a brief description about the Project Tiger.

29.  Study the table and answer the questions below:

State Per Capita income for 2002-03(in Rs)
Punjab 26,000
Kerala 22,800
Bihar 5,700

i. Which state has the highest per capita income in a year?
ii. Which state has the lowest per capita income in a year?
iii. Which state is better one and why?

20 Section D (20 Marks)

Explain any five proper farming techniques which can be used for soil conservation.
OR

"Consequences of environmental degradation do not respect national or state boundaries”. Support the statement with
examples.

Explain the term conservatism. Explain with special reference to Europe.
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31. Explain the term conservatism. Explain with special reference to Europe.
OR

Suggest the initiative action taken by the government to increase the agricultural production..
32.  What are the different forms of power sharing in modern democracies? Give an example of each of these.
OR
What is Coalition Government? What is its impact on Indian politics?
33.  What is the significance of Secondary sector in Indian economy?
OR
What is the basic idea behind the self help groups(SHG,S) in the rural Economy.

Section E (12 Marks)

34.  Read the text carefully and answer the questions:

The first clear expression of nationalism came with the French Revolution in 1789. France was a full-fledged
territorial state in 1789 under the rule of an absolute monarch. The political and constitutional changes that came
in the wake of the French Revolution led to the transfer of sovereignty from the monarchy to a body of French
citizens. The revolution proclaimed that it was the people who would henceforth constitute the nation and shape
its destiny. From the very beginning, the French revolutionaries introduced various measures and practices that
could create a sense of collective identity amongst the French people. The ideas of La Patrie and Le Citoyen
emphasised the notion of a united community enjoying equal rights under a constitution. A new French flag, the
tricolour, was chosen to replace the former royal standard. The Estates-General was elected by the body of active
citizens and renamed the National Assembly. New hymns were composed, oaths taken and martyrs
commemorated, all in the name of the nation. A centralized administrative system was put in place and it
formulated uniform laws for all citizens within its territory. Internal customs duties and dues were abolished and
a uniform system of weights and measures was adopted. Regional dialects were discouraged and French became
the common language of the nation.

(@  What was the major change that occurred in the political and constitutional scenario due to the French

Revolution in Europe?
(b)  Mention the proclamation of the French Revolution.
(c) Mention any two policies or practices that helped people feel a sense of community.

35.  Read the text carefully and answer the questions:

A dam is a barrier across flowing water that obstructs, directs or retards the flow, often creating a reservoir, lake

or impoundment. "Dam" refers to the reservoir rather than the structure. Most dams have a section called a

spillway or weir over which or through which it is intended that water will flow either intermittently or

continuously. Dams are classified according to structure, intended purpose or height. Based on structure and the

materials used, dams are classified as timber dams, embankment dams or masonry dams, with several subtypes.

According to the height, dams can be categorised as large dams and major dams or alternatively as low dams,
medium height dams and high dams.

(@  What does the word 'Dam’ actually refer to?

(b)  Mention any one benefit of a Multi-purpose River Valley Project.

()  How have multi-purpose river valley projects a cause of social movements? Explain.

Read the text carefully and answer the questions:

Besides seeking more income, one way or the other, people also seek things like equal treatment, freedom,
security, and respect of others. They resent discrimination. All these are important goals. In fact, in some cases,

36

these may be more important than more income or more consumption because material goods are not all that you

need to live.
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Similarly, there are many things that are not easily measured but they mean a lot to our lives. These are often
ignored. However, it will be wrong to conclude that what cannot be measured is not important. For development,
people look at a mix of goals. It is true that if women are engaged in paid work, their dignity in the household
and society increases. However, it is also the case that if there is respect for women there would be more sharing
of housework and a greater acceptance of women working outside. A safe and secure environment may allow
more women to take up a variety of jobs or run a business. Hence, the developmental goals that people have are

not only about better income but also about other important things in life.
(@  Explain how people look at a mix of goals for development with an example.

(b)  That which cannot be measured is not important for development. State a reason either in favour or against

the statement.
Section F (5 Marks)

A Two features A and B are marked in the given political map of India. Identify these features with the help of
the following information and write their correct names on the lines marked on the map.
i. 1. Place where non-cooperation movement was called off

ii. 2. Place where no tax campaign was started
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Section- A

Do any 4 out of 6 (4x1=4)
1. Communication is required:

a) At all time b) Frequently c) At no time d) Sometimes
2. The information that the sender wishes to convey is called

a) Feedback b) Communication barrier c) Message d) Noise

3. The force that is within you drives you to do things.
a) Self-Awareness b) Self-Regulation  c¢) Self-Motivation d) None of the above
4. Converting weakness into strength and strength into an exceptional talent is known as
a) self-awareness b) self-confidence c) self-reliance d) self-regulation
5. Which of the following entrepreneurship refers to starting industries in which
manufacturing, trading, providing services, productions are done on a micro scale?

a) Agricultural Entrepreneurship b) Large Scale Entrepreneurship
c) Small Scale Entrepreneurship d) Women Entrepreneurship
6. Which of these is not a function of an Entrepreneur?
a) Organization building and management b) Imbalance
c) Innovation d) Risk-taking
Section - B (20x1=20)

Do 20 out of 24
1. With which SDG, the following objective is associated? To promote peaceful and inclusive
societies for sustainable development; providing access to justice for all.
a) Responsible Consumption and Production b) Life on Land
c) Peace and Justice Strong Institutions d)Sustainable Cities and Communities
2. It refers to the unsupervised learning algorithm which can cluster the unknown data
according to the patterns or trends identified out of it.

a) Classification b) Regression
c) Clustering d) Dimensionality reduction
3. What networks are loosely modeled after how neurons in the human brain behave?
a) Rule-based b) supervised
c) Neural d) Unsupervised
4. The types of data collected during the Al project cycle is considered as
a) Data Features b) Data Attributes
c) Data Collection d) Data Characteristics
5. Which of the following is not a data quality measurement?
a) Consistency b) Non-valid
c) Completeness d) Uniqueness
6. During Data Acquisition, feeding previous data into the machine is called:
a) Evaluating Data b) Testing Data
c) Training Data d) Predicting Data
7. What is helpful in solving problems for which the data set is very large?
a) All of these b) Output layer network
c) Neural network d) Regression

8. Which of the following is a machine learning approach where the machine generates it’s

own rules or algorithms
A MvArinin T Mhaatarinae




9. Suppose Kavita Deshmukh is using Alexa chatbot in her home, that is very powerful,
flexible, and has wide functionality. The chatbot is capable of performing various tasks,
like playing music, etc. What type of bot she is using?
a) Self bot b) Smart bot
c) May be smart bot or script bot d) Script bot
10. Which term is used for the whole textual data from all the documents altogether during
Text Normalisation?
a) Lotus b) TextInput
c) Data d) Corpus
11. What is the term used for the words occurring in all the documents with high term
frequencies but having the least values?

a) Good words b) TRIDF
c) Stop words d) Qwords
12. Which term is used to refer to the grammatical structure of a sentence?
a) Syntax b) Semantics
c) Stemming d) Gram

13. During Text Normalisation, which step will come after removing Stopwords, Special
Characters and Numbers.

a) Converting text to a common case. b) Stemming
c) Lemmatization d) Tokenisation
14. The process of grouping different forms of the same word together is known as:
a) Data extraction b) Lemmatization
c) Tokenization d) Stemming
15. Companies use application of NLP, to identify opinions and feelings/emotions
online and help them understand what customers think about their products and services.
a) Sentiment Analsis b) Automatic Summarization
c) Text classification d) Virtual Assistants
16. identify each document in the corpus, find out how many times the
word from the unique list of words has occurred.
a) Text Normalization b) Create Dictionary
c) Document Vectors d) All of the above

17. The result of the comparison between the Prediction and Reality can be recorded in a
table which is known as:

a) Prediction Table b) Confusion matrix
c) construction matrix d) Bag of words
18. While evaluating a model's performance, recall parameter considers
a) False positive b) True positive
c) False negative d) True negative
Choose the correct option
a) only (i) b) (ii) and (iii)
) (i) and (iv) d) (iii) and (iv)
19. Which of the following talks about how true the predictions are by any model?
a) Accuracy b) F1 score c) Reliability d) Recall
20. Which is a metric that describes how the model performs across all classes?
a) Misclassification b) Accuracy
c) F1 Score d) Precision

21. Which of the following evaluation method takes into account the true positive as well
as false positive together?
a) Accuracy b) F1 score c) Recall d) Precision




22. A traffic monitoring Al app always predicts a traffic jam inspite of zero traffic on roads.
This is a case of high cost associated with .
a) True Positive b) True Negative

c) False Negative d) False Positive
23. We can trust a machine-
a) Low recall b) Low accuracy
c) High accuracy d) High precision
24. can be defined as the fraction of positive cases that are correctly identified.
a.Recall b. Accuracy
c.Precision d. Data acquisition
Section- C
Do 3 out of 5 (2x3=6)

1. Enlist seven elements of the communication cycle.

2. What are the various barriers to effective communication?

3. What is the difference between eustress and distress?

4. What are the personal signs of stress?

5. What step are considered important for the entrepreneurial process?

Section-D
Do 4 out of 6 (2x4=8)
1. Mention two precautions to be taken while acquiring data for developing an Al
Project.

2. Draw the graphical representation of Regression Al model. Explain in brief
3. Give an example of perfect Syntax but no Meaning.
4. Why are human languages complicated for a computer to understand? Explain.
5. What do you mean by Evaluation of an AI model?
6. What is Recall in Al and give the example of equation?
Section-E
Do 3 out § (4x3=12)

1. Enmnlist the characteristics of different types of Machine Learning (ML).

2. What are the different type of Learning based approach?

3. Normalize the given text and comment on the vocabulary before and after the
normalization: Raj and Vijay are best friends. They play together with other
friends. Raj likes to play football but Vijay prefers to play online games. Raj
wants to be a footballer. Vijay wants to become an online gamer.

4. Calculate Recall, Precision, and accuracy for the following confusion matrix on

coronavirus:
Confusion Matrix on | Reality: True Reality: False
Zeta virus
Prediction: Positive | 200 10
Prediction: Negative | 25 15

5. Deduce the formula of F1 Score? What is the need for its formulation?
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Multiple Choice Question:
Section-A (Do any 4 out of 6) (4)
1.  The communication cycle consists of how many stages?
a)6 b) 1 08 d)5

2. What is the final step in the communication cycle?
a) Encoding b) Receiving ) Decording d) Feedback
3. Rahul works hard to get the best student award at the end of year. What type of motivation is this?
a) Internal b) Intermediate c) External d) social

4. Which of the following is an unrealistic goal?

i. 1 will read my entire year's syllabus of all subjects in one day.
ii. 1 will write 1 page daily to improve my handwriting.
iii. Both 1 will read my entire year's syllabus of all subjects in one day and 1 will write 1 page daily to improve
my handwriting.

iv. None of these
a) Option (iii) b) Option (iv) c) Option (i) d) Option (ii)
5. Sustainable development includes
a) recycling and reuse of waste materials b) All of these

¢) using more environment friendly material d) reducing excessive use of resources

6.  Sustainable development requires the judicious use of

a) Nature- made resources b) man-made resources ¢) human resources d) natural resources
Section-B (Do any 5 out of 6) (5)
1.  Without using the mouse or the arrow keys, what is the fastest way of getting to cell A1 in a spreadsheet?
a) Press Home b) Press Shift + Home c) Press Alt + Home d) Press Ctrl + Home

2. You can enter which types of data into worksheet cells?

a) Formulas only b) Labels, values and formulas

¢) Values and formulas but not Labels d) Labels and values but not formulas
3. ____ isasaved sequence of commands or keystrokes that are stored for later use.

a) Macro b) Merge c) Compare Changes d) Record Changes
4. A chart is a tool that is used in

a) document b) excel c) database d) mail merge
5. Which option is used to name a range of cells?

a) Select Range b) Define Range ¢) Range name d) Cell Range



The numbers in our worksheet look like this: You want them to look like this: $ 1,000. How can you accomplish
this?

i. Select Format > Money from the menu

ii. Click the Currency Style button on the formatting toolbar
iii. You have to retype everything and manually add the dollar signs, commas, and decimals.

iv. None of these

a) i b) iv 0i d) ii

Section-C (Do any 5 out of 6) (5)

1.

feature of Calc is used to test what-if questions.

a) Goal seek b) Solver c) Styles d) Scenario

Which of the following methods cannot be used to edit the contents of a cell?

a) Press the Alt key b) Double clicking the cell c) Pressing the F2key ~ d) Clicking the formula bar
Which of the following is not valid field of table Student.

a) salary b) fees C) name d) admno
Which of the following act as an interface to view, enter and change data in database?

a) Query b) Form c) Report d) Table

What data type should be chosen for a zipcode field in a table?

a) Memo b) Text ¢) Number d) All of these

Which of the following reflects the importance of Goal seek?

a) Subtotal b) Scenario c) Solver d) Consolidate

Section-D (Do any 5 out of 6) (5)

1.

Which language help to extract/fetch data from table?
a) HTML b) Python ¢) MYSQL d) OOBASE
What do you mean by one to many relationship between Student and class table?

a) Many classes may have many students b) One class may have many student
¢) One student can have many classes d) Many students may have many classes
Which of the following is not a characteristic of DBMS?

a) Insurance data security b) Decreases data redundancy

) Increases data redundancy d) Holds data in a standard format

A database that contains tables linked by common fields is called a
a) Flat file database b) Relational database c¢) Centralised database  d) Deentralised database

What is our responsibility when checking medical-related items in a first aid kit?
a) Cost b) Size ¢) Color d) Expiry
Give some examples of a healthy lifestyle.
a) Healthy eating habits b) All of these c) Physical activities d) Stress Management

Section-E (Do any 5 out of 6) (5)

1.

2.

What basic safety rules should we follow at the workplace?
a) Electricity Safety b) Falls and slips c) Fire safety & use of first aid d) All of these

An organization can face some that could put the lives of the employees in danger.

a) Shortage b) Power c) Issue d) Health Hazards



3. What are some of the measures to prevent electrical hazards and accidents?
a) All of these b) Use only electrical equipment approved by
a recognized organization.
¢) Train workers to handle electric equipment d) Avoid overloading circuits.
safely.
4. What type of password can help reduce the risk of a security breach?
a) Small b) Weak c) Strong d) Week
5. The High Contrast feature in Microsoft Windows XP is designed to help persons who have impairments.
a) Auditory Impairments b) Cognitive Impairments ¢) Visual Impairments d) Dexterity Impairments
6. Hazards can be of different types depending on the and the in which the employees work.
a) Opportunity, threat b) Industry, problem c) Industry, Environment  d) Occupation, problem
Section F (Do any 3 out of 5 questions) (6)
1. In your opinion, what may be the purpose of verbal communication?
2. Describe what we mean by encoding a message.
3. Enlist the elements of Self- Motivation.
4. What are the personal signs of stress?
5. Illustrate with an example the importance of sustainable development.
Section G (Do any 4 out of 6 questions) (8)
1. Name the tools of What-if Analysis.
2 Define cell reference.
3. Distinguish between data and information.
4 Explain the following with respect to Databases:
a. Forms b. Reports c. Table
5. Give a list of any four types of accidents.
6. What is Evacuation Process.
Section H (Do any 3 out of 5 questions) (12)
1. Lokesh is preparing notes for his upcoming exams. Help him to write the correct answer of the following:
i. Goal seek ii. Absolute link iii. Relative link iv. Macro
2. Explain the scenario tool of a spreadsheet software.
3. Describe a database. Give any two real-life examples of databases.
4. Give any four steps to maintain healthy lifestyle.
5. Consider the following table: Student

Rno Sname Age City

1 Alisha 15 Banga

2 Naman 16 Phagwara
3 Gitesh 17 Banga

(i) How many fields are there in the Student Table ?
(ii) Display age of roll no 3

(iii) Display name of student coming from Banga
(iv) Display all data of table.



